S1 Modern Studies
Knowledge Quilt
Colour code the 4 categories below.  
Then look at the statements in the ‘knowledge quilt’ below and decide which category they relate to. 
Colour the statements in with the appropriate colour.

	The Treaty of Versailles
	The Ruhr
	The Munich Putsch
	Golden Age of Weimar




	Von Kahr, Von Seisser and Von Lossow gave the impression that they now supported the Nazis.

	Germany had no choice but to accept the peace terms, but many Germans still blamed their democratic republic for signing the treaty.
	The Young Plan, 1929 gave Germany 59 years to pay their reparation payments.

	New money called Rentenmark was produced to solve hyperinflation.

	France and Belgium needed reparation payments to rebuild their country
	On 28th June 1919, this treaty officially ended the First World War.

	Germany was forced to accept responsibility for causing all the deaths & damage done in the war and had to pay for it.
	As Hitler left the scene, Kahr, Seisser and Lossow went home and told the police to deal with the Nazis.
	German workers refused to co-operate with the invaders and went on strike (passive resistance).

	Hitler’s plan to overthrow the Government failed as police blocked the Nazis and shots were fired.
	The politicians that accepted the armistice were known as ‘November Criminals.’ Germans believed they had not been defeated.
	Gustav Stresemann made Germany internationally respectable as they signed the Locarno Treaty, 1925.

	As workers went on strike, workers were still paid but no wealth was being created.
	The USA gave Germany loans to rebuild its economy and pay its reparations
	[bookmark: _GoBack]Hitler was in prison for 5 years for trying to overthrow the Government, he was released after 9 months.

	
	
	

	
	
	

	
	
	



